
   

 

 
 
 

 

Instructions:  

!"#$% 

!"&$% 

'()*+,-./0(0*12+3(4(-/(56(73+(/8(,9/3-(70,:+3(-;<+=( 

((((> 4 ? 56 @ABCD@E 

((((> 4 ? 56 FABCDFE 

'((G7H9(I*+,-./0(H733.+,(46(173J,=( 

((((K@L 46 ME 

((((KFN 46 ME 

…………………………………………………………………………………………………… 
 

1)  

Arrange the numbers in order. Begin with the smallest number. 

OPQRSTUEVWXYTUZ[E 

O\QRS]UE^WXY]U_[E 

 

………………………………………………………………………………………………………………………. 
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2)  

 
Jack has 8 stickers. Mary has 3 stickers more than Jack. How many stickers do they have altogether? 
`ab(c(defEghi`ajk(l(defEmnopbjqdefr 

sab(c(tuvEwxisajk(l(tuvEmyopbjqtuvr 

………………………………………………………………………………………………………………………… 

 

3) 

 

 

…………………………………………………………………………………………………………………………… 

 

4)  

 

 

 

 

…………………………………………………………………………………………………………………………….
. 

 

 



   

 

5)  

Rachel’s birthday is in the fifth month of the year. Her sister’s birthday is 3 months before that. In which 
month is her sister’s birthday?  

z{|Y"}B~o��Y>���E�������Y"}E���Y"}B��r 

z{�Y"}B~o��Y>���E�������Y"}E���Y"}B��r 

…………………………………………………………………………………………………………………………… 

 

6)  

 
On what day does August 19, 2024 fall? 
 
565�(�(c(�(4�(}B��}�r 

565�(�(c(�(4�(}B�o�r 

 
 
……………………………………………………………………………………………………………………… 
 
 
 
 
 
 



   

 

7)  

 
Sarah has $47. She wants to buy three books and each book costs $19.How much more money does she 
need? 
��b(��(�E�������K����(4�(�E 

��b(��(�E����� �K� �¡(4�(�E�¢£¤jq¥r 

                                                                                                   
 

…………………………………………………………………………………………………………………………… 

8)  

 

The current time is given in the clock. If an event is going to start after 3 hours, when will it start?  

¦�§¨~§©�ª«E¬­®¯°~(l(X§±Z[���§²Z[r 

³�´µ~´¶�·«E¬­®¸¹~(l(X´º_[E�»´²_[r 

 

 

 

 

…………………………………………………………………………………………………………………………….
. 



   

 

9) 

John has a rope that is 56 cm long. He cuts off 2 pieces from the rope in which one piece is 10 cm and 
another piece is half of the rope. How long is the remaining rope? 

¼½bo¾(¿À(ÁMÂYÃ�EmVÃ�ÄÅÆÇÈ�É�oÈÂ 46 ÊË�ÌoÈBÃ

�YoÍEÎÆYÃ�bjÂr 

Ï½boÐ(¿À(ÊËÑYÒ�Em^Ò�ÄÅÆÓÔ�É�oÔÑ 46 ÊË�ÌoÔBÒ

�YoÍEÎÆYÒ�bjÑr 

…………………………………………………………………………………………………………………………….. 

10) 

The table shows the number of students present in a class in a week. What is the sum of the number of 
students of the days which have the same number of attendances? 

ÕÖ×ØkoÙÚÛ�ÜÝYÞ"ßTE¦�«àßTáâYÞ"ßTãäBjqr 

åÕæØkoçèÛ�ÜéYê"ß]E³�«àß]áâYê"ß]ëäBjqr 

 

……………………………………………………………………………………………………………………………. 



   

 

11)  

Find the number which is more than 13 by 5. 

ìi 4l í ¿YTE 

ìi 4l í ¿Y]E 

………………………………………………………………………………………………………………………… 

12)  

 
  
A pentagon has _____ sides and _____ corners. 

�îïb(ððððð(¾îä(ððððð(ñE 

�òïb(ððððð(óòä(ððððð(ñE 

…………………………………………………………………………………………………………………………. 

 

 

13) If yesterday was Wednesday, then tomorrow will be ______ 

((((((¬­ô�Bõö��÷ø�ùBðððððð 

(((((¬­ô�Bõö��÷»ø�ùBðððððð 

……………………………………………………………………………………………………………………. 

 

 

 

 



   

 

14) 

 

Amelia has two sticks of 9 cm each and two sticks of 15 cm each. She joins the sticks to form a figure. 
Name the figure. 

úËûübÇÐ(�(ÁMYýþäÇÐ(4¿(ÁMYýþE�°ýþÿ!"#ï$o�%

ïE&«'%ïY()E 

*Ëû+bÓÐ(�(ÁMYýþäÓÐ(4¿(ÁMYýþE�¹ýþ,!"-ï$o�.

ïE/«å.ïY(0E 

…………………………………………………………………………………………………………………………… 

15)  

 
How many squares are there in the figure? 
%�bjq�12ïr 

.�bjq�12ïr 

 
 

 

……………………………………………………………………………………………………………………………. 



   

 

16)  

How many circles is the figure made up of? 

%ïB3jq�45$Yr 

.ïB3jq�67$Yr 

 

 

………………………………………………………………………………………………………………………… 

17)  

Which pair of months have 31 days? 

哪一對月份有 31 天？ 

哪对月份有 31 天？ 

(a) March, April 
              三月、四月  

(b) July, August 
              七月、八月 

(c) September, October 
               九月、十月 

(d) May, June 

              五月、六月 

…………………………………………………………………………………………………………………………….. 



   

 

18) 

 
Look at the number sentences. 
889ÆTU:E 

889Æ]U:E 

 

 
 
What is the missing number in the box? 
;�<=qYTUBjqr 

盒子里缺失的数字是多少？ 

 

 

 

 

 

 

 



   

 

………………………………………………………………………………………………………………….. 

19) 

Howard had some toy cars. His father bought 5 more toy cars for him and he lost 2. He 
has 13 toy cars now. How many toy cars did Howard have at first? 

 

 

                                  

20) 

Carlos spends $13 on a tank at the pet shop and he buys 7 fishes with $5 each. How much does he spend 
altogether? 

>?@~ABCDk(4l(E��ko�FG�H9K¾(¿(E�Y�Ö�k(�(¾FEmo

pDkjqIr 

>?@~JBCDk(4l(E��ko�KG�L9Kó(¿(E�Y¡Ö�k(�(óKEmo

pDkjq¥r 

…………………………………………………………………………………………………………………………… 

                                                                          END OF PAPER 

 

 

       

 

        

!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!""

霍德華有⼀些玩具⾞。他⽗親⼜給他買了五輛玩具⾞，他掉了兩輛。他現在有13輛玩具⾞。
霍德華⼀開始有多少輛玩具⾞？

霍德华有⼀些玩具⻋。他⽗亲⼜给他买了五辆玩具⻋，他掉了两辆。他现在有13辆玩具⻋。
霍德华⼀开始有多少辆玩具⻋？


